= ASSEMBLY INSTRUCTIONS

AMERICAN SIGNATURE, INC. ITEM NO: 9407NK6YBQXCIX - KING UPH 68 HB-CATER CARBN
9407NK6Y DIANAXDUR - KING UPH 68 HB-CARTER NATRL
9407NK6Y NEVPURDUR - KING UPH 68 HB-CARTER PURE
9407NKZ0OBQXCIX - KING UPH 56 HB-CATER CARBN
9407NKZ0DIANAXDUR - KING UPH 56 HB-CARTER NATRL
9407NKZONEVPURDUR - KING UPH 56 HB-CARTER PURE
9407NK2ZBQXCIX - KG UPH FB/RL/SLT-CARTER CARBN
9407NK 2ZDIANAXDUR - KG UPH FB/RL/SLT-CARTER NATRL
9407NK2ZNEVPURDUR - KG UPH FB/RL/SLTS-CARTER PURE

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may have come loose inside the carton during shipment

PART LISTS /| HARDWARE LISTS
CARTON ONE CARTON TWO

NO. DESCRIPTION SKETCH | QTY | NO. DESCRIPTION SKETCH | QTY
1 | HEADBOARD PANEL ‘é 1PC 2 | BUNFEET © |2rcs

3 | FOOTBOARD / 1PC

2 | BUNFEET @ 2PCS

A | ALLENKEY 4 X 60 MM =1 |1rc| 4 (81;623-7*1940mm) \ 5PCS
| T || s | SR D fores
c ;zm\'&\g’rﬁi”m @& |2pcs| 6 | SIDERAL % 2 PCS

D ';'g?‘rev)\(/ﬁ‘g:? 2PCS| A | ALLENKEY 4mm S1|1rc

E | BOLT@5/16 x 55mm 2PCs| B iTEAI'\IG;gY - === |1prC
c| ey | @ ures
o | B s

E | BOLT@5/16 x 55mm 2PCS
BOLT @5/16 x 32mm 12 PCS

SCREW #4 x 30mm @mm»> |10 PCS

PHILLIPS SCREWDRIVER @:
(NOT PROVIDED)

MADE IN VIETNAM PAGE 1 OF 2




= ASSEMBLY INSTRUCTIONS

AMERICAN SIGNATURE, INC. ITEM NO: 9407NK6YBQXCIX - KING UPH 68 HB-CATER CARBN
9407NK6Y DIANAXDUR - KING UPH 68 HB-CARTER NATRL
9407NK6Y NEVPURDUR - KING UPH 68 HB-CARTER PURE
9407NKZ0OBQXCIX - KING UPH 56 HB-CATER CARBN

v[\ F ﬁ 9407NKZ0DIANAXDUR - KING UPH 56 HB-CARTER NATRL

4 9407NKZONEVPURDUR - KING UPH 56 HB-CARTER PURE
' 9407NK2ZBQXCIX - KG UPH FB/RL/SLT-CARTER CARBN

9407NK 2ZDIANAXDUR - KG UPH FB/RL/SLT-CARTER NATRL
9407NK2ZNEVPURDUR - KG UPH FB/RL/SLTS-CARTER PURE

F———
S |
|
LEVEl|_ER
L _ = i

ASSEMBLY IS COMPLETED

MADE IN VIETNAM PAGE 2 OF 2




